L I8 B =4

PEIEMNME / 2 EIRE
+ ¥ o o
X EATHEER M EIEME
EH 22120.
’ = midik
ERATHERRNEARTERIEMMA,
FEATHIE 6. 8 & 10 WA EIEMNE,
B
YR
- W, RER, BENR
- TEM AR
AR
- W, 32
« TE54N 1.4305
i)
gy
d threaded pin
3 - with brass bolt
y 4—-hl\
== S | b
17 L - D] L
m \/ 7 | 1 : 1
—_— I | It
| 111
Kk Kk . ®
l
2
d countersink for cylinder head stud
2 ISO 4762 ®
T + T T
o el 1! N @
T T Y N1
picture 1 picture 2
iTEER
R+ & [ 1
d, d, d; d, k 14 I, I s max.
+0,1 ~
[mm] [°C] [a]
BT Mo ENREFT -8 1,48
M12x1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0345
M16x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0346
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 109 22120.0350
BEEFLEES RO EELAE - HE 2,
M12x1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0347
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0348
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0352
EEFL M EREFT - HA 1, THN
M12x1,5 32 M5 45 21 22 26,5 9 12 250 43 22120.0545
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 122 22120.0546
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 109 22120.0550
BEEFLEESENREMNDEIELE - A 2, THN
M12x1,5 32 M5 45 21 22 26,5 9 12 250 37 22120.0547
M16 x 1,5 46 M8 55 32 33 38,0 13 15 250 106 22120.0548
M20 x 1,5 46 M8 55 32 33 38,0 13 15 250 94 22120.0552
1K 2
tNHALDER

FIE7E: 12.10.2023



http://halder.com/cn/22120.0345
http://halder.com/cn/22120.0346
http://halder.com/cn/22120.0350
http://halder.com/cn/22120.0347
http://halder.com/cn/22120.0348
http://halder.com/cn/22120.0352
http://halder.com/cn/22120.0545
http://halder.com/cn/22120.0546
http://halder.com/cn/22120.0550
http://halder.com/cn/22120.0547
http://halder.com/cn/22120.0548
http://halder.com/cn/22120.0552

LA e BF 4
DEIEMA / 5o EIRE

s

Az Peatl)

g

For detailed compliance information please select the desired article number.

ENHALDER T 28 2

FIE7E: 12.10.2023



